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In a vector form c

z O a xo.io

1 Xl
5 4 Exp

x do
d

M 0

O

o f
O

oioi.ggf5x't
5

Oto Og 012053

a gl 7s Kafka a'Is

c
I

3 02 of
5 6 6 1

q

o nO



C

e L

a't cat at ay ay
g b r g r

y y y Yz Ty

AY Y j i 33,4

T
853 1

B
It

Tax I Y

I 445550 555244
T

vi d

a'satisfy



5
ifg EI

y fix

off i

LETE g
5 x l

5K I 5X I
B

fit it



Il I

Hadamardproduct X

tf

X O

it Ho ax

5 025T 8 giz's

5 1
get

get ox

g'it gC gl logistic
age

gosh god s

once saturated
0.51

learning slowly z



g

z f go.si O ai t Qal
u 02212

YI

84 y a
4

p
t

8 g gt3 84

j 0383 t 0 28 is si

si 5 gtz
2 J 2 3

e Ao Si
0070 il

T s
J

y j l ages



D a 83
o Q's

0 0 a
sooooo Of



Of o O's i Ots

O2 Tg
3

g92
4



Take an explicit example
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